@ Extra Practice: Skills, Word Problems, and Proof

@ Lesson 10-1
If poessible, find the perimeder and area of esch figure. If not possible, state why.

L T F 6.m a 13
5t ) im
Im

7 15 ft: 10.825 ft2

16 m; 12 m? 50 ft; 143 f2
A = / 24 vd _
130 17 m
zﬁl‘d 1.
|17 m——| q 2 perimeter not possible as sla
s sides could be any langth: 270 in

AT m; 102 m
@ Lessons 10-2 and 10-3
Find the area of each trapezoid or repalar polygon. Leave your answer in simplest

radical form.
T i i 4in 15 in2 o .- 1.
i 2.3 mm?
A 27Int
11. The patio section of a restaurant is a trapezoid 1L A mosaic design uses kite-shaped tiles with the
with the dimensions shown in the figure. What dime nsions shown in the figure. What is the
is the area of the patio section? 3500 ft2 area of esch tile? 2,825 in.2
60 f _I
80 ft I 3 in- |J'

13, The tibes for 2 bathroom Boor are regular hexapons that mé in. on each side.
Find the area of an individual tile. Express the answer in radical form. 1?.&3 in.2

14. The floor of a parebo is a regular hexapon with sides that are 9 ft long. What is
the area of the floor? Round to the nearest square foot. 240 fi2

@ Lesson 10-4
Find the ratio of the perimeters and the ratio of the aress of the blue Gpore to the red Gpore
15 g O O 17. [\
_IS.I.-m': I{'r—— fiim. 'I
- o/
Sam

5:8;25:84 d:40:16 5 : 16; 25 : 758
18. A triangular banner has an area of 315 in?. A similar banner has sides li timses
as long 3z those of the smaller banner. What is the area of the larger banper? 580 in.2
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19, You want to enkrpe the picture on the front of a postcard by 10%_ 1§ the
perimeter of the posteard is 44 cm, what will be the perimeter of the enlorgement? 48.4 cm

@ Lesson 10-5
Mhmdeﬁmwmmm&eml tenth.

0, 5 o
10m
9 ‘m_ 15 cm Becm %

I31n. o
20,4 #2 43.2 cm 20 m2
M. a repular hexagon with an npulhem Df3 ft34.2f#2 25 aresular octagon with radins 5 ft 707 #2
@ Lesson 10-6

() Find the droomference of each cirde. (b) Find the length of the arc shown in
nd.lum}nl.rmhm of . 26-29. S-aamu'g'n

& P @ A

3. A bicycle wheel has a radins of 033 m. How many revolutions does the wheel
make when the bicyde is ridden 1 km? Round to the nearest whole nnmber. 482
@ Lesson 10-7
Find the area of each shoded sector or sepmend. Leave your answers in terms of .
3L

(127 — 03} in.2
35 A 14-indiameter pizza is cut into & equal slices. About how many square
inches of pizza are in each slice? Round to the nearest square inch. 26 in.2

@ Lesson 10-8

Darts are thrown st random ot each of the boards shown. If o dont hits the board,
find the probability that it will land in the shaded area.

> % ) y
3 3 A
4. A square garden that & 80 f on each side is surrounded by a cobblestone street

that is 8 ft wade. If a chikd’s balloon lands at random in the region formed by the
garden and street, what & the probability that it lands on the stree‘l?,}&

41, A dart hits the ciroobar board shown in the figure at a random point. What is
the probability that it does not hit the shaded square? Express your answer in

termanf & a 28
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Practice

26. a.6rcm
b. 2x cm

27. a. 2= ft
b. §= ft

28. a.18rcm
b. 3= em

20. a. 10x in.
b. £xin.
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Practice
equilateral &; 7 + 10 =
15+2
rectangle; T + 10 =
15+2
equilateral D; 7 + 7 =
12+2

regular hexagon;
T+i0=15+2

Extra Practice: Skills, Word Problems, and Proof

@ Lesson 11-1
The disprams in Excrcises 14 each show o cube afier part of it has bees out away.
ldentilly the shape of ike cross section fernsed by the cut. Also, verify Euler's
Formula, F + ¥V = E + L fer the polyhedron thet remaims. 1-5. S22 margin.

L j 1 ﬂ l ‘LQ
5. The bases of the prism shown at the right are squilatenl triangles.

Make a skeich that shows how you can have a plane inlerssct the
prism ko give a cross section that is an isosceles trapezaid.

Lessons 11-2 and 11-2

Fimd ths {n) buiersl area and (b) surface area of esch fgure. Leave your snswers in
terms of & or in simphes radical form.

£ T. R 'y 9
1 in
ifi Teom
e 4in -

R 2, 2 , 40x n.%; 56 In.2 L am
I gan?; 108 M x cm?; 36x cm® 1087715 144, T 1.2
1. An oplical insirument conlains a triangular glass prism with the T om
dimznsions shown al tbe right. Find the lateral area and sarface
area of the prism. Kound to the nearest Lenth. 19.3 cmE; 21.3 cm?
1L A company packages sall in a cylindrical box that has a diameter

of Ecm and a height of 13.5 cm. Find the lateral area and sarfzce
arca of the box. Round 0 the nearest Lenth. 338.3 cm®: 430.8 cm®

Fimd ihse {n) bsiersl area and (h) surfoce orea of esch pyramid sr come. A same that the
base of cach pyramid is s repulsr polypen. Rownd your asswers to the nearest iemth.

1% A 14
¥, Scom
7 in. 5 ft
Icm .

56 In.% 72 In.% 37.5 cm?; 47.9 cm? 55.0 1% aa.2 12
Lessons 11-4 and 11-5

Fimd i volumee of each figure. Round your amswers io the nesrest enth.

1. 1% 19, Jin
: .
L™ ; e
I_ 1 ! 5 i:I.
———

-
mm
I—E T
mm 46 mm? fmm 175 mm? 158 m®
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¥
1Zcm 540 cm?

I

400 m?

4. A greenhouse has the dimeasions shown in the figare. What is the volume of
the greenhowse? Round io the nearest cubic fool. 5670 112

Bt
I4h

10 i

25. Find the wolume of a can of chicken broth that has a diameter of 7.5 cm and &
height of 11 cm. Round Lo the nearest eath. 486.0 cm?

26. A paper drinking cup is a cone that bhas a diameter DflJ__ri.n.zrhd a height of
3?—2 in. How many cubic inches of water does the cup hold when it is [ull 1o
the brim? Round (o the nearest tenth. 5.7 103

@ Lesson 11-6

Find the volume and serfsce area of o sphere with the given mdins or
dimmeter. Cive cach amswer in termas of © snd rosnded 1o the nearest

whole namber.
IMr=5%cm M.r=13H0 4= Bin .
M4 =20 Al r=05in d=0m
The surface ares of each sphere is given. Find the volunee of each sphere in =
ierms of 7.
13, 64x m? 252 m? . 16z in? B2 nd 35 407 02 B g3 =
3. A spherical beach ball has a diameter of 1.75 [ when it is full of air. 30.
What i the sarface arza of the beach ball, and bow many cubic feet of H.
air does it coniain? Round 1o the nearest hundredih. 8,62 I'I:i; 281 12 -
@ Lesson 11-7
Copy snd complete the wshie for three similar solids.
similarity Ratio | Ratio of Surface Areas | Ratio of Volumes
T 2:3 4 H:m8 8 H: N 27
8. EE:Ng B 125 W : W 512
10 3 E:m4 -] H & I7: 64

40. How do the surface area and volume of a cylinder change il the radius and

height are multiplied by §7 5.4, |5 muitiplied by $3. Valuma is muthplied by 462

4L For two smilar =olids, how are the mtios of their volomes and
surface areas related? (P10 A43
I.F';f I.I;.-'

Jo044 pue ‘swajqoid paops ‘s|INs

222 omd, 524 omé;
1007 cm?, 314 cm?

. 38= 2, 113 1 36« A2,

Tan?

252 .3, 268 I3

64x In2, 200 In.?
SR, A 4o ft? 13112
I 1% 2 n? am?
282 m3, 382 m; 1= m?,

25=-e|rn.2
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Extra Practice
Tangents to a = from a
point outside the = are
=, 50A5= AP, BP =
BQ, CQ = CA, and DR
= 5. By the Segmeant
Add. Post. and various
Props. or =,

AB + DC =

AP +BP+DR+CR=
AS+BQ+ D54+ CQ=
BO +~CO+AS+D5=
BC + AD

8= 36 b=5%c=104
d =00

8= 105;b = 100
a=55b=Tkc=1TH
d =88

Yes. Each side of the
polygon is a chord of
the circle and the L bis.
of any chord contains
the center of the circle.

@ Llesson 12-1

(] #dpebra Assume theat lines that appear to be tampent are mnpent. Pis the center of
each cirche. Find ibe vailee of x.

I./----- 86 E.I/,-E g' 1_‘; x & .tll/.a \2,3{
& & T &

5. Givems Cruadrilateral ABCT is circumscribed about S0
Prover AR + DC = BC + AD  Ses margin.
i

@ Lessons 12-2 and 12-2

Algebra Fimd the value of each varisble. If your snswer is not 3 whele number,
roumd it io the mearesi tengh. 10-12. 388 margin.

'8 l,-/__P‘\.' 14.8 T :

T a=18b=TE

14 A polygon is inscribed in a circle. Are the perpendicular bisectors of the sides
of the polypon concurrent? Explain. S8 margin.

15. A circle has a diameter of 4 units A chord parallel to a diameter is 1.5 anils
from the cenber of the circle. The endpoints of the diameter and the chord are

the vertices of an iscsoeles Lrapesoid. What is the distance from the ceater of
the circle 1o each keg of the trapeaoid? Round 1o the nearest hundredth. 182 units

16 Givems A and £ IY are inscribed amgles in 240 that
imtercept BT . TIF and AT intersect at B
Prove: AAPE ~ ADPC LA = ¢ 0 since they both Intercept BE.
LBPY = £ CPD becauss they are vertical 4.
AAPH ~ ADPC by AA ~.
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